BUS 310, Exam #1A, Part Il; Summer 2019
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Part I:
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The following questions refer to problem #3 from Part I:

5. Using the cluster sample calculated at home, find a 95% confidence interval for GMAT scores.
Interpret the results of your interval. Do you think your sample is representative of the data?
Why or what not? (12 points)
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The following questions refer to problem #3 from Part I:

6. Report your 95% confidence interval for the difference of means. Is there a meaningful difference
between monthl ‘expenses for the married and unmarried students? Explain. (10 points)

(333. )6, 40%.96)

ﬁmﬂwa%ﬁmw WWL@M{MM{QS‘%W

57

Wu, o behyern " 335 ard|& YR ) becawar O o
sk onehudid i 7o llead

Calculations in Excel: (1) 32 points, (2) 15 points, (3) 20 points, (4) 20 points.

Part Il

Histograms of the means of the simulated data for each sample size are shown below, along
with a table of summary statistics. Use this information to answer the questions that follow.

simulated 10 Beores, Sample Size 10 Mean simulatef 10 Scores, Sample Size 20 Means

7. Fifty (50) simulated samples of 1Q scores are taken with each Ejl different sample sizes.




Standard
Mean Deviation
Sample Size 10 98.7 4.708
Sample Size 20 100.2 3.198
Sample Size 5( 100.4 2.4;31
Sample Size 100 100.2 1.529
Population 100 15
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Standard errors:
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